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& | ¥
MATHIMATICS | Uil .
: Cdred e M @ au”
I A hox contans length 10 m, width 6 m and | Q_:‘F kil .ﬁ_ W@ﬁ;ﬂﬁﬁ!ﬁ ‘a]'ffgﬁ? AT w
height 4 1. How many cubes of voume 15 cu.m | ?Efng 4 Hl. g | aFd & 2
can accommodste in the box ¢ aid fedd we Bl I;;—(}TI o f-7
(A) 12 {8) 10 (A 42 st 10 o3
(e 14 () 16 €l 14 (o) 16
. | : 5 F
2 Points (0. 5), (5. 0) and (2, 2) form o triangle »  fa=gall (0. 5), (5. 0) Ud (2. 2) [ g Ay
which iy &
{A) Equilaterz [B) None of these (A} qadig
(€] Right angle (D) 1s0sceles B8) g T ®E Tl
. © (o) wAfEdTE
1e). wepoT ( E,
T im0 s o3 factor of equabian k & fou w1 b fag (m 2) Td
m- — Sm =+ | then the value o' ks i S TUgvs i
A 11 {8} 8 A 44 {8l g
g a6 (© g ) &
& T . dn [\ in BT
Ore af the angle of a triangle is and they T ﬁ"ﬁ!pl H UF FHI . IR §
1) I 10
other one is 567, then the third angle in radian|  sg* &, a1 FOY BT 7 AW GREwm § ol
& Al 5 (8]
{A) Nene of these B A o = ::-fq + &
7
. & j20 -
U R © g
i o) g
3 4
3 4
5 In the given diagram # POR =90 °_ Point 0 is (5. fau @ fim & . POR = 90 °, fa Q,
the centroid of APQR and PG = 5 cm, AR = 12 ﬂ-PQR B Hew B oFdr PQ = 5 fr;ﬂ-‘ QR
om. The value of DO is = 12 ¥R & 0Q 71 W 3 4
g 51‘. ‘LS}L{
M
Qa R
(A), None of these (B} ]
/e 4 em 41 o
3
€ o) 2 (©) (D) .
S-cm 4 em Sl A 4 29
3 3 3 3
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5 Theydus f {f.:’:"". !
e valye o G ; 'll.(_
SRR TR v : il o
U N G : REE et
T R T MTE LI f_f
i A
(A] 2 (8} 0 j = e qnql{
(6" 4 Y B - R z
(€) 1 {O) None of thoye : SR LR 6&;\
. ) L
. On reduction of notato price by 25%, a person 7 and, B BT 26% WP w4 G ik ofi #
eiihin
purchnsc J “-il; of powio more in ¥ 367, "ﬁfhﬂll IR0 1'] ]_ |?FF_T; -:'EIQ'L mf‘m U\?id‘ﬂ' 3 |
;1]:111: actual price of per kg of potatn ? ' a ‘i b JHHB?«‘? T 3
s ke 18) 3 16/kg o AT e Bl T qpfimm
{ch ¥12/kg (D) Mone of these o T pfem I R e A
& Ashopkeeper offered 3 discount of T 32 on the |8 T& u% & S&ifsr 4o @ ¥ 32 8T @9
prin'tpl.-i price of a “a?r.h and earned a profit of| et w THARE BT 15% @l 2 %’ | &ty
rlfﬁ%,:fih.o purchase price of the watch is 1320.| g w0 w2 220 B, @ fF @ w ‘
pelr':e 5;:I. at ’_Jrll_r:-t_f{! price, what would b= the 3 Q1 B wheE S0t 2nn 2 “ : J:' b
RIIAGE:pRaltt ; A R @i ) 20% g
(A) None of these (8} 20% | B ¥ A @l a\f{m LA K b3
o o 25% 0% S e
(C) 25% (0} 30% ﬁﬁ?‘ Y L3
— A
# $in 73° =sinl ° 5. sin 75° —sm13° TLd
The value of o s -l T 8 ;4 AL
$75° +c0s15° 20875 +0s 157 o en
W B 2 W .4 (5 O
' " o~ IP"{,
%] o
(€] None of these oy €} g < 3 T D) |
0. |If cosec o + cot & = m, then the value of cos ¢is | 10 e cosec o+ cot o= m, 98 cos § @l
B ERS
{A) None of these 2 e [~ 'sfl'ﬁl O e TE el m*‘ !
i =
m’ +1 m +1
A o) (cl > (D) 3
4 m+] m =1 e+ m =1
i i =1 m" =1 NI
|
L
x5
= 5 _;t
i pat Bt
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Yo The value of

N
s T . VIR
(a) 4 (B} &
(12 0} 4

1 the population of LY is INCeasing a1 rate of ' 12

L0% per year. At aresent Lhe
13310, What was the PO
earlivr 7

(A) 12 500

< 12,00

ity popalation |
ulation of ey 3 years |
|
(B) More uf these
0] 10,000
|
13 In whal proportion we should mix the teg of
150 per kg and ¥ 200 per kg o bring the price of |
mixture to ¥ 165 per kg ?

?E'a 180 5 o AR 3 200 S P aich

s

- 73 _2 J_lr:h r l:’t\-.;:‘ ).qu (f-/
w2
(A 4 B
€ 12 o g

o feeit e @ SeRREm 0% uir g ﬁ
AW @R oAy ot gl o A
aiE et Al wfe gfaer wRien

13310 B A 7
8] 3F 9 BE A

4 11,500
€ 11,000 {©) 40,000

'y

@ 5 aqme ® femnm o fe

| P w e 7 odes ol BT @) w2 e
Al 5.7 (B} 7. 3 [
| W 5:79 {8} 7 . 3 ¥ 4
fc) 3;7 (P) None of these | 37 (0} 31 9 w§ !
W If the length of a perpendicular drawn from the |14 fpeft Y1 m Tdfdg @ T4 ™ o @
origin on 3 line is p and perpendicular is making TS p A o x-HH A oD A E,
ﬁn a_ngie a from the x-axis. The equation of this | T4 T W @ i
o | B X gin as+ y cog u=
(A xsina+ycosa=p (B) ax+by+p=0 | Y 2
(8} ax + by +p=20
|r-lx('Oﬁe+‘5dS.'nn=-p[D]xCDSufyslnu-p i )
| {9 x cog @+ ygin a= p
®F x cos «+ y sin a= p
|
'S The dius of acircleis 2 cm and it is divided (15 TF gd W = g W F 1 og9d 2
intwo parts by a chord of 2 cm. The value of the | 7t oidl va Shar g &) wuel A fanfom B
angle of larger segment is 8, ol didevs & @ @ = B B
{A) 45 * {8) Nane of these M 45° B 7 & oI e -
{ 30° (D) 15° Lo 3p° (D) 15°
6 Five years carlicr Ram was three times older 6 5 af yd «w o HY wWH @ Ay @) 3
than Shyam. The age of Ram will twice the sge,  Th off @ar 10 of ae W A R
of Shyam after 10 years. The present age of Ram &l any aﬁ&z T 8t | W o wm @
and Shyam is el HY & F
(A) 30 years & 10 years (B) 50 years & 20 years A 30 ad 10T (8 50 af 20 q¢
(€ 35 years & 15 years D) None of these © 35 ad, 15 af (0 g § B
. o 1033426
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" The factors ol egualion

T I 4 :‘i-.
@ & \ |
v v i
(A) | | I i
g~ |k =2 v 3 |
x 5 o |
(8) 1 | | |
pes C =T R A ) e B
v v ! :
[l | | |
! ]
(M= o= w L m—=d
; X X X
(o) | | ; | E
| ot el | meg £ eyl |
i X | X - 2 i A
¥ 3 X X :

18 If paints (1, 2], (x, - 1) and {4, 5) are collinear,
then the value of x is

{al -1 (B) -2

ch2 D)1

M If the average of seven consecutive even (19

numbers is 62, then the ene fourth of twice of
total of first and sixth numaer is
(A) &1 {B) 62

{C] None of these (D) 60

20 sin (A + Bj.sin{A - B)is equal to

A € . . o
el sin A =-sin~B

Vs S & yuring @
v Y
(A} | | |
X= i v= =2 - =2
X v ¥
VR | | |
V== | ja="+2! v— =2
v v : 2
(o {3 1 | j
e e e 2 K =
X E - X
(o) L5t | 1
i
. |‘ L 42 | = _: i
4 X . Y

6 gfe =g (1, 2), (¢ -1) W@ (4, 5) WE £

a1 x-&1 O ¥
Al (B 2
€] o {0} 4

el A H whenat 1 w82
g @ uEel we Wwl & dhd &

(8 sz
€ 8 ¢ B T 0 60

(@ sin (A + B). sin (A - B) ®1 A UK
- _g

sin~ A +cos B R
B ittt s
{C] None of these i) it T o T
I ! L =L b T . 5} ) ~
© A PR W O sinTA+Ccos™A
21 The LCM and HCF of polynomial P(¥) and |21. 48U% P(y) Q6 Qv) & a1
Q(x) are 56{_1."' +_\-} and 4(_‘-3 ~x+1) HA, L 56{1‘4-.—1’) wd
ively. If th lynomial . ;
ol A el | a e+ DT pry =280 4
P(x) =28(x" + 1) then QUY) =3 AW Q=
) - il i :
8x(x”—x+1) Gu(x”~x=1} @ Balx™ =x4+1) 6x(x” +x—=1)
{c - (D) None of these .
) dx(x-—x+1) () Rl (o) = A B T
T Page: 3 103342

T

S*W
CollegeDekho



&

Bof G

.‘”;?Q’n i g £V
& le 2
sl — 5,
. 2 El
_ S e . N fudst 0 A
22 A wite of diameter 10 mm is diewn by m“'“”@ Y ol U if; | T Wl faroar 9 €L

the sphere of radius 9 om. The length of wire

wivald be
(Al 38 88 cm [B) 77.76Cm i

(€] 38 48 m L)}/ /6m i

I r .
*i Pipe mo. 1 ear #ill the tank in 5 hours and pipe | 2 Uik el U <ipl

no. 2 in 10 hours. Pipe no. 3 can drain the water

and make empiy in 7 I hours. If sl the three
]

pipes are open all together then the time

required for filling the tank complately would be

T @hr T
al ane @ o @

(A 3p.es O
(€l 3g.88 A

@ 77.76 A
©0) 77.76 .
g 5 He A W AUbdl #
awr gRwl Ad 9 10 g2 # o wEar ®
; gz o @t &
: : 7' "e 7 Wk
FafE drm T 26 S

i 2 . @At o
r g1 afy @5 o6 TR TR
T‘f‘t& O :?l AT A1 I BT
(B] {5 T

el

(A) 6 hanrs iB) 16 haurs LbdA) g T f
: = A B T
(€) 10 hours 10) None of these '[MU [ (B} ¥ T B
e ] o2

74 In the group of 240 students, 200 opts fo@,' 240 frenfifmi & &Y # 200 kf’?ﬁﬂlrj{- 5

history and 90 opts for Geography. If 20 T2 90 o o & | afd 20 ¥ -

students do not opt for History 2s well as £l o -;? oy A, CURCERIREE

Geography, then how many students opt for| o9 fasg od B 7

both the subjects i.c. History and Geography (a1 _70 {8l 170

both ? B (0} T | B ARl

(Al 70 8) 170

([ Ty {0] Nane of these

5

2
elevation of flag poie ends made by 2 person

standing on the other side of a 40 m wide road

is 60° and 45° respectively. The length [height]

of flag pole is
{#) None of these

8 40{-/3 ~1)m

(€) 30m ®) 40(+/3 <1)m

26 The equation of locus of points whose distance
from x-axis is n times of its cistance from y-axis.
{A) x = ny {B) None of these

{C)y+nx=0 {D) y = nx

A flag pole is fitted in the wall. The ange of|:

27 The equation of a line parallel to x-axis and
passing through a distance of b is
(A) None of these (B} x=b

Dly=b

{chy=x

A & fag e woeve ¥ AR U4 99

25
w140 A, IR vew F T SR W
PAW 60° Wi 450 ¥ | €IS B HE
(T &
W =g A B 403 -1)m
€ 30 m @) o 3 =1)m

% 3

Al &1 g vy @1 vl SE@)
x«’ﬂﬁ gl yaig A g @l n A R,
BT

A x = ny Bl ¥ A B T
€ y+nx=0 {Dly=ﬂ}<

2.y & WA Y@ W) x-dE W b gl
W & FH Wi E
(A) 7 ¥ w1 T Bl = p
([ y = x By =p

103
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£ o=t ¥ 3
" 1, st »'lk?a-'.
1O the tolal of Two humbens 13 25 and il:.,:.-z afE I iwmad ow oAWT 25 T4 ST &
muwltiplication is 144, then their difference iy | TR 144 ¢, L R {27710 o e LS /
1A 4 (8) 6 @l @ v ‘Vh el
)y ¢ o) 5 N ® g “ o
Al 7 L) 5
79 There are six balls which rings at the interval of | #5 ws W4T Wb wigl wid: 4 8:00 491 daudl |
2, 4.6, 8 10 and 12 minutes. All the six bells| 7~ 7fs A Wit 2, 4.6, 8 0 vi 12 Pe ¥
O rung together at 8:00 a.m. Find out the time|  o/=ITd WY ewrdll G A El T
.o/ when they will ring 2gain togather THTEN (U W) ST 2 %
Qﬂk” {A) Nonc of these {B) 1:00 p.m (W) gi T g T (0 100 451 AR
4 (€l 10:00 am (0 11:00am fo A 1000 a9y (D) 4100 O W 7
a0 £ ] PR o5
I x*=n, then the value of | | is R oy o ‘ i RLELE &
LI m
(A v (B) ¢ s {A) v [12]] X
- | =]-1 = %
O o 4 m/
(€] None of these o) 1 € 39% o ®1F wE () 4
3. In the diagram, AD is the langent line of the 3. Rz % AD el B 9T A ABC ©E®
circle and ABC is the secant ine. If AB=4cm & w1 & | afe AB = 4 98 a2 BC = 5 _
BC'= 5 cm, then the length of AD is WL W AD ei"d'ligr Cf_"x- E.-NE'
T 5 p=i
P i e o] ib E
—— R I H
'"'q:.._' | A | i r, & i
—~— | : i I I
B [Vl
{A] Gem (B} 7 ermn Al g <t (8) 7 ¥mf
{C} 8cm {D) None of these c} g et ®) 31 ) =g =59
32 The least numbar by which either nn|:32 98 BIE ¥ o e, fae IO 19404
muldplying or dividing the nurmhber 19404 will | | T "W I UY OE T gtl'f a7
become complete square is S
(4) 13 {8) None of these {Al 13 B = 7 o
€11 o) 7 € oy 7
|
|
i
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1 The value of Vi the given diagram is

oy

-y

3

[ - .
(g-'h‘m Yy o1 HIT dT1G

|
| o 120
:41 - 120
| 3] C o
- . {8 120"
(Al GO° (8} 120 {2 o e
o U wly TRl
~(c) go* {6) Mone of these  go’ {'IU'] g W Bl

equation of side AB of the triangle .
M) %=y =1 (B) x+3y=1

(€ x+2y=2 D) x+y=2

? The coordinzies of angular po'nt of a trigple
ABC are A0, 1), B2, 0) and €{-1, -2). Find the

by P =1 TrdteEET
W fnpr ABC @y AB @1 TI@Y
C?Ef:l m:’ R @l f?:—v.; % [Aduiig
A0, 1), B2, 0) ud C{-1, -2) &

(A x - 2y = 1 (1 g0 % By =

g egp=2 TWixrp=2

B. C. D T UPK

= - - (7 = A
The points A, B, C, D on a cirele are in such ay 3576 gd T o T4 A

i
5 5 : =
way that they form a square ABCD. If the area of g f&s 0 v 9 ABCD *Fﬂ'—{} b l}gﬁﬁ?
circle is 3850 so.m, then the area of square & 3850 a7 W & dar a1 T >
would be
D C
i A n
(Al 4250 @f . (8l 2450 T A
W B st © 2500 @ W, D) g X BE AL
(ci 2540 m° (D) None of these
ey o
3% The value of y iR 00 .
im T 5 - | R
VB M A6 149
16 ¥ 49 B M &

(Al -;6 (B} Mone of these (Al j{, (Bl 29 U B =

_'_;; “_;.
€ 7 (o] I; ] 7 (D] 3

20 4 20 il

Page: § 1035-’-1"-
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a4

20

a1

2. The purchase value of 4 items are equal fo sales |

. i aw ah
1he valy s o Loy « e
he value of B, o |1_]” |
3 I |
5 !
(a] 2 (B} 0
(€l 1 (0} Mone of these

A car driver cover the first 100 km a1 a speec of W
50 kinfhour and other 120 km at 2 speed of 40
kmfhour. If e moves with his average speed by |
which he Lravelled 220 km, then the tlrm"
requirad for further travelling of 242 km ﬁ|

(B) |
5. hour £
i =

() ‘
M

i) (2] Nane of these

~1
7 hour
b ]

If the moedian of 59, 82, 65,%. x + 2, 72, 85 and

94 15 69, than the value of X s
(A) G2 8) 2
€} 67 0] Mone of Lhese |

volume of a perpendicular circular cone A is A0
shrice the valume of perpendicular circular cone | =

B, The hsight of cone B is the thrice of height of |
cone A. The ralio of radius of A ta radius of Bis |
Ay 3:1 (8) 3:2 |
c) 2 o) 2:3

Three non-rero number m,
contnued proportion, if

A Is |: F - “3} e
(A] None of these m® =np

1]

o :
i n-=mp ]

)* =1m

value of 3 items. The % profitis

A L) N
w 3;’.] 25 11 %o
3
@ 2 Wl el
66~ % T

8, mf?. HAFsT 59, 62, 65,

n, p will he in|4:.

E H ab
£ Hdnn

o o Bk -i~~.-] | .' O B
i n T3
(n 2 vl g
(1 (L) T T7 Wiy AR

Um W VAR TEd 100 PR @ g9 s0
Phftieier ®1 < 91 S & oaen amv 120
fit 40 fedfirder @) diel {‘! TR | e
ﬂ?ﬁﬁﬁzzcﬁﬂﬂmaﬁaﬁaﬁmmﬂi’
Wl R 242 B W gD T owR @
T4 e Wy o im 7

W) de (8) ] 4l
) 4
2 2
© | W o) T T wre @l
F
=

¥, ¥ & 2 ¥2, 85
“ud 94 o WMRHST 69 B, A x @ AR E

(Al gg (8] @8
o &7 0) 3+ 3 @ T
T u”ﬂ-clr"l—tl?ﬁ' ‘Q’IT: A I FFEGE oS

qaER WH B W o @l w T Y |
:rr—e-.ﬂwr',arﬁmﬁmﬁff‘?i
Aﬁﬁwws-‘?ﬁ-mﬁﬂmﬂ
{Ab 3 @1 & 3 :2

€l 2 :1 D) % ::2

@i sy si@m m, n, p few o A
2, af
(A g W P T

m’ =np

. (o) ;
) n- =mp P~ = mil
. ufe 4*1&!17':1'-[?!"5‘1:« U
frra T W AT, ﬁca'mqf’ﬁﬂs‘rn
Al (8 1. .
W 35l 1.2
5 9
) 7 (D) .
66 % 7 ;99
3
S =

T 1033426
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f.’J] i oy e e

4 ABCDEF & oo vguilaterel hexagon. 19y cach sitlu@ABCDEF U e E".]T AT &

I il seevali [ g & | gl s AC
' f1
n - - —\
4 \g .
f q( [} Lt
§ L /.
iz 2 o
\':... _.__};“‘ ! \__,r = '/
heEiT o . =} £
(M) None of these (i) 2 bW gl @ g i () WE = T
AC =Ty ) 3
(@ ;1 O ¢ | @ i WL BE--ag
AC= 7 AL i - AC=

1 The area of two similar triangles are 9 sg.m muiE. -'-«';'{"l ey BoEl O &30 WA g S TR
-

I sg.m respectvely. |f the 22igat of one =TT 3
g oap o + B A T 24 7
triangle is 24 m, then the height of the alher 365 & | MR i g i wls 1

one s A &) s 2

P By @) dd A
(Al None of these 8) 48 m F:I :\T—p‘;ﬁ;\[ 'a?‘ig'?{f_ﬁ J;}P :B 11
€} 58 m (D) 38 m 3

(€ s A (o) 38 1,

5 In A ACD, £ ABC » 90* and AD is perpendicular

5 g AACD W, £ABC > 90° AR AD &%
1o CB, then the value of NS

® CB W al y¢: & WA €

|

: 'r

o

D B C &
(A} TR AT (4] 3 5

AB” = BC" -2BC.CD ARF £ BCE —2pC-C

(& . ﬁ

J AB- =DBC° -2BC.CD & AR+ B0 = 30
i AB” =BD® +2BC-CD =

AB ~BD® = 2BC-CD
(D) None of these ©) 37 F B a8

“6 There are 80% male employecs in 2 factory, 20 F-lﬁ- UH ! T soy T wIae F R 9
male employees are metric and rest graduate.\ 20% Mew g 9 ;];iqg £ 1 ufr e
The total number of female employees are 600,|  afarl 259 B g 9w Ague qen el
out of which 25% are metric and rest graduate. | weRa &) I 600 B, o) e 3 el
The total number of graduate employees in the fras fome £ - ¥

factory are (A 57 3 B A 18 2430
(A) None of these (B} 2430 (€@ 2370 ) 2730
{c) 2370 (D) 2730

_—-—4 = _”_‘li_:”l_ T Page: 10 10334
A
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He

If 1 1.‘ L thenthe  wvalue  of afy 2 ,\ i aq X = 0x -k Ox
A el = - T
: - WA R
Xo=by -y’ A
: ) {a) o (8] 171 ¥ ﬁﬂé el
g {8} None of these © » (o) 4

(o o] L]

*8 The largest number by which on dividing the (4" dg ol O 4l e, RiGD 1356, 1868 Gd
numbers 1356, 1868, 2764, the remainder is 12 2764 @ T 9 WY U&ie 991 #4129y

i1l cases - S
(A 70 8 gy (A 7o (Bl gg
(€) None of these (D) 64 (€ g9 & @ a€f (D) g4

8 The ends of a triangle are (4, 6), (2, 2) and {0, [ 10, T e & oW 4, 8), (2 -2) W (o, 2)
2).The co-ordinate ofits centroid is £ | 506 Bem w Fewm 6
{4 (2, 1) (8) (2,3) A (2, 1 {8l (2, 3)

) (2, 2) in} (3,7 9 (2, 2) @ (3, 2)

W IPA={1,3,9,10,21},B={4,6,8 10jand C = {1, 50 ufy A = {1 3, 9, 10, 21}, B = {4 &, B,
2,3,4,3,6,7,8.9, 10! then the value of A (B 10} ar C = 02, 8. 4, 5 6 T, 8 &
Cis 103, @1 An(BnC) & AF ¥
(4) {2, 10} (8) {10} W g2 0 ® {10}

(€} Nona of these {0) {8, 10} 0 $# 9 &g 7& () {8, 10}
|

T
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Lo |

SECTION-11
PHYSICS |

A g stone s kept in the tioating boat. It the .
stone 15 droppec » the wate- of pond from the
baat, the leve of water i1 the pand

(A) Decrease (po-dowr (B) Ny chunge

(€) Increase {rise upd (D) Nane of these
Ifatorce Fean siop the n wving body of mass m
and velocity u in a distance s, then the farce
required o stooping bocy of lwice TIdns,
moving with half velocity in the same distance
would be
(A) F

(<

B} 2F
D)

|

I
2

An o ect start maving from standstll. If the

accelerztion is 10m 5= then the distance

travelled by the object in 10th second is
{A} 250 m {B) 85 m

{C) 4050 m {B} 5000 m

The time period of seconds pendulum on @

planet where pravilation acceleration is l of,

Q
gravitational accel=ration of 2arth
{A) 9 seconds {B}

(cl

second

ary - I

+ifeors I
el # &l 19§ Agd 497 Yo W
[ 1 m;netﬁ g f A1 FEreY dAlefld
frr Rom 7Y, @ AN & el BT A
(i Jﬂl T;’T\ "J!'!ﬁ—"ﬂ IR} d—{pf Cetll

JUoar g s (©) i O Bre T
f"’wmiﬁ‘muﬂu

LT
dd ¥ gN 5 T
gt &t S c‘m A doidt g8 m £

s T

maﬁﬁmggmaﬂﬂ'ﬂ_ﬂﬂ%
(x F B 2 F
2 ]

% firs fRm@ar A T AR ?b‘-!?ﬂ§
| afy weer 10 e ©Y, G 104 WHTS H
fvg gr adft o €
(Al 250 M. B} g5 .
€l 4050 . (o) spoo A

| 54

UH UGve olledd bl W T UL o Il
Rl e wRU @ WA JRdl @

m‘ﬂml)'%ldﬁe‘rd-iaﬂam—n‘aﬂd?

l

(M) g Twvs @ | Jwvy
9 second ]
D) 6 seconds a1 dwrs D) § Yr@vg
3
|
|
Page: 12 1033
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55 The resultant of teo Torces P ane P miakes an

angle of 90" from the force P and its!

magnitude is equal ta magnitude of I’ . The

magnitude of P e

(Al p B i~p |
2 |

(€} Nane of these 0] Zero i

£ There is a difference of 25 =fir the temperutumi
of two bodies. It's value in celcius scale would |
be ‘
&Y 20 ¢ B] 4isg
€ 30: (D) Mone of these ‘

57 A weight of 150 kg is hanged at distance of 60
cm from one end of 1.5 m long pole. If both the
cnds of pole are rested on the shoulder of twn‘
persen, then the weight lifted by both thet
persans are '
(#) 100 and 50 kg {B) 60 and 90 kg |
{C) 75 kg each {D) 30 and 120 kg

58 1 kilowatt-hour is equal to (

(A) 1.OHP (B}

3.6 % 107 Joule

(C) 3600 Joule {0} None of these

8. Main scale af a microscope is divided in the
parts of 0.5 mm. if 50 parts of Vernier's scale
match with the 49 parts of main scale, the least
count of its is

{A] 0.002 cm
{Cl 0.05cm

(B} 0.001 cm
(D) 0.005 em

if the force is increase four times and surface
area is decreased to half, then the ratio of final
pressure to initial pressure would be

(A 2:1 (8) 1:2

(€l 1:8 DA:1

=h

& ad Py P,ow aReell PoRr 900 W &

gert wwrw wRemm Py & owmEn & 1 D@l
s &
{n P (8} PP
=
(© gr @ W T D) gpa
w6, = ;ﬂﬁ;ﬂ’[ F AN W 45 & =N g

AT S9@ W wg A=K B
A w0 B 40°C
(c)

30 °C (D) ?ﬂﬁ A ?ﬁ\flg £

5. 4.5 0L o) TH @ & @ RN A 60
AL a8 uw 150 FEW B UK ATHIEAT I

&1 we & dH RR Q) el & dEl W
B ¥ 1 <9 amefidl gm wermm T MR
BT

(&} 100 wd 50 fom.m

(®) go wd 9o fem.m.

€} 75 fhmr. weds

(0} 30 T4 120 Tm.AM
i
8. 4 [Feildre-avel &1 N B
=" (A {8}
1.0 HP 3.6 %108 Nel

© T A B

5. U JEAGY @ T WO @ 0.5 ol &
y H fdwaw fear wm € | ofFER Aeh
F 50 WM W A F 49 RN F W
freTd & | AT W Sreaawie
(A) 0.002 HHL. (8] 0,001 T
{©) 0.05 . {B) 0.005 Wil

(€ 3600 o

0. IE 4 B IR A A9 Tl S ATBed B
aen B OfEmr W, @ oRomh q@ @
WRME T FT TG B
A 2 . g Bl 1: 2

© 1:8 (D) g : 1

A
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liv 5 syster Nowlor-second is unit of
(8} Momentum (B} Impulse of farce

(€} Mamentum & Impuise of foree

L 5¢

{0} None of these

An electnic motor create a tension of 4500 &
Newton in a cable on lifting a certain waight and |
wrapped at a rate of 2 m/s. The power of moter

1%

(A) 15 kilowatt
(€} 9000 kilowatt

(B} 225 kilowatt
(0] 9 kilowatt

_I'hle pressure measurec by barometer at §°C is | 63,
76 mm. The same pressure at 100 *C would be [
(A) 760 mm (8) 730 mim i

(€} 780 mm D) Nane of these ‘

g, agfy 8 Yed-dave gdi #
(A jdn (Bl del i S

o wdu v del @1 ST

"o g e A

% Rt @ Aex @ aor SO A S
§ 4500 e B TN FOA TIA T AW
2 AR A a A JrEd § 1 AR @)
Tﬁfﬁ?

(&) 15 fheflare

() gooe fhefldie

B) 225 fpeiiaTe
D) g [Hefldre

0 °C @ uwy ddler g’ AWM AT T
760 A & 1100 °C @9 W T4 BT A

B
(A} 760 fA.41. (8) 730 fo.
© 780 fyA. ©) T U B G

Momentum of two bodies are equal. Ifthemass@a\ el & wa w1 Ul e

of bodies are ™ . and kinetic energies are

k, .k . respectively, then the ratio k: wou d be !
(A) ; 8
m, By,
m, -
©  2m. L I
_iTl_ ‘_nl:!
11,

1y

The thermal capacity of a body of mass 100 gms
and specific heat 0.11 caloriefg °Cis
(Al None of these {B} 110 calorie/ =

() 11 calorie (D] 16 calerie/ ¢

It error in measuring the radius of a sphere is
1%, then the error in calculating the volume of

Gl

Tt & e & oA W

gaMiAm .m B adl wEs il BHEE

s k.
k,.k B O 3w T\_.-.'tﬂ'm
_ L
I @ g,
m, m,
@  2m, © oy
m, m-

e feell 9% S T=EE 100 WH A
Hﬁ'ﬁ L TR %Gfﬂ:";]:mc 'E\I GG

9o i @
W @l O g T B 0 S

(©) # Hrd (0} 15 Seirdirc

E{§ﬂ‘l% |

gD AT B TR F e

sphere would be (A} 3oy {B) 5
(A) 3% {B) 5% € 7% (D) 494
7% D) 1% o
Page: 14 !
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a7 A b b applied for 20 seconds O g rane o 57

BE

70

il

moviop body of 5 pas,

there s no fgree
HITCTE T

after 5 saepnds
ol 50 em. The valge of furee

Body  stouped
PRI 8 sl ance
in Newton is

n ; ] :
LU R n2rs«in
Q| ; () E |
2= S« 10 |
If a rigd bady s travelling  distance  in | w

prepadional 1o the square of tune, then the
atceleration of this ngid body is

(A constant (B} Decreasing

(€ Increasing (0] Zerg

A studert reacked his school by mov ng first 1|60
km to east, then 3 km to south and finally 4 lam

o west. The direct distance of his s¢

hool from
bis house is

{(A) 22 km {0 3km
& 22Kk B A0um ;

I the anglz betwzen two plane misror is 50° .
then the number of images made of an object
situated in between the mirrors

!
(A} None of these (&) 5 |
i€l s )7
Which is not the unit of energy 7 7
(A) Megawalt (B} Newlon-metre
(€] Kilowatt-hour (D) Joule

o. gfer =

5 I waME & g By argen A) @w@
Vb del 20 W & (3T qen @, Rark qae
TYOUE WIE dol A W g 5 €
50 R W oft aorhT T owmn @ | dd
£ B TE ) s A
{a) ) n)
1 o A

i

" f (1) 2
el e 1] 310

Gt

(e

S T Rvg wer & g W s
W ool T T o ¢ o R W o
W) P ¢ AR T @

{c) {0} I

dg MW 8

W et s R W T 1 fedood A
R, M= 2 f <R w5 sk gem arm H
4 A e @ SR ey vy

AU ¥ | W Eew @ v 9 g
o g

(8} 5 19 il Bl/s fm

@ 3.4 &4 ® g feEa

UHde wiuil & dla @1 @ oen - 2,

AN WIE Nu W@ oo s afifl @) T

R bl ‘
(4 z=8 31 ®E @ 8 9
[ ] 7

oIl B IS 1é] & )
(Al Aingie BT ~yeH-Hiey
(€ fiperare-vier (0] T

HIENEE e
W
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e @Ay ad 111:w LEICR U

" Two bodies of masses 111, .4 at tne distance of | 7
1, exert 3 grovitational “orce F on each other. The| &, & dre &M @ v o 4 F
am, m Cim, 3 el
Fois defined as) = " - where G is 3 4 | = e = 4 faar e e, @
1~ i
constant. The value of G depends upen E aiw 8 G @ A R wear &
(Al On the urit system (Al qEE ggle W
(B) Not depends on the unit system and 8 mse TEMA o dAn TOTH & & g F
Medium between the masses (bodies' qrszm E"I’rl’f R TE
(€} Medium between the masses (bodies) (€ gemmAl & 4t & WEd 9
(D) On the unit system and Medium thwPen- (oY wT=E qgfa o & A @
tae masses (bodies) hoth e CE W
73 A motor cycle is moving with an acceleration of | 73. yp HexuTgRed @l @ 8 Mg 8 | afe
fm s If we touch-on a same type of non- w Rt & @wq Aeesied ExiEg i1
moving moto-cycle  with  it,  then  the dfg & T2, ?IT ! :T{“T g
acceleration will be W g 3 B R B2
(4] None of these (8 ;
2T © 4 #yzt (©) 5 iz
£ . b g
Q@ 4ms- o) ST
¢ Two objects are dropped together from the |7 & gy hld]l:\ﬁmli O v ue el
height li, and .. The ratic of time taken b E il & 3 i
i 4 yl ot & | 996 fl W e § @ W
them to reach the garth is HN S §
; ; B
Wy ® Wy ® b
! K. h, i 1 b,
; i g S =
() h: i) .:'-11_\ a h: ) |‘11:
I.!| -.'.' ].]| h] JI h|
75 The unit of work in CGS is . @ @1 g AEE 8 '
(A} Horse Power (B} Newtan-metre (A g7 oiqw (8} qz:[]ﬂﬁ
{cl Erg () Joule {c) DY el
Page: 16 03
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79

&0

SECTION =1l
CHEMISTRY

Aate of diffusion of & gas desends on
A Valoney (8} Specific heat

(€] Atomicity (O] Molecular weight
Potassium Ferracyanide [l{ JelCN) ]is. type

|
of sall

(A} Double salt
(€} Simgle salt

{B) Compley salt
(D) Acidic salt

The 1)) ¢y’ of o soluticn is obtaned by

dissalving 5.85 g of NaCl in water. The molarity |
of solution would be

(A} 2 mular (8) 0.5 molsr

(€} 4 maolar B} 1 malar

Twe alpha particles are cmitted fram an |
clement whose mass number is 226 and alomic |
number 88, What would be the mass number

%

7o

um - 11T

WIRGT M
Tl & fderer @l o= Fek e @
A aeea W B e sor
(€ gupuEma (B 3uR a%

" iR fre BRINTTAISS []\' AEeN), ]ﬁ?rﬂ

UHR &l ofdi 2 7

W firp @m (Bl Mmoo

) s Gar JJ‘{ AT AT

100 37 fierm, AR 5.85 UM MaCl i
Wl H ey W R T, @ FeE
bl

(A} 2 molar 8] 0.5 molar

€ 4 molar 1 1 molar

226 UV R T 88 WAN] HFHEG did
Th o W Gl Sem @Y Fedd b odig

Wi g & GeE Ul Jd9 U
and atomic rumber of the element obtained ®mEE T BT 7
afler amissien ? (8 214, g2 (8] 218, 80
(a) 214,82 (B) 218, 80 € 213, 84 @/21& 82
(C) 218,84 10} 218, &2
If the electronic distribulion of X is 2, 8, 3 and ¥ |20 afy it g X &7 ':{’ﬁaﬁ'ﬁm famam 2,
is 2, 6, then the formula of the compound g 3% GRIR N FlagiTe (gram 2, Ef‘
formed is | 4 dedl & 3F A 97 Hhe & @@= e
(A) Xv (B) N (Al Wy (E] \‘l

e i 6 sy oy

(cl _‘\:'15 (o] % b 3 2
The temperature at which the vapour pressure | 1. fSRT &9 o% T4 T AR 'JR\I_*I%c'ﬁ"ﬁ#ﬂTﬂ
of liquid becomes equal to atmospheric G 4 0 PP B 1 | e i 111 "p‘[ el 8
pressure is called . {A-tfas am (B} &=
[A) Critical temperature (B} iMelling point (€ waETS o) fams
{¢) Boiling point D) Freezing point

Page: 17 1033420
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ha2

m
(51

HE

87

n a specilic condition following reaction 1ak
place. [o this reaction redoc 0 gl is

L

BECL =L e = SO )
(A} 5 1B) None of theye
{cl

ik i) Sond - both

The atomie number of sulphur 15 16
number

c and mass
32 The number of electrons  and
protons in £ s

(A} 16, 16 (8) 18 18

(€ 18, 16 (D] 14,16
On evaporation of 2,77 t of saturated «.r:luti:mf
of a substance, we abtamed 0.72 [ -3.;'
precipitate. The salubi'ity of substance would |
be ,
[A] 36 (R} g
(€] 5 (o] 18
Nost orobable velocity of a gas is defined as
(2] Nong vi these o) 3R
¥ M.

@ 3RT © T

WA WM
The full name of B.H.C is

(Al Benzena Hydrogen Carbonate

(8) Benzene Hydrochloride

(€] Benzene Hexachloride

(D) Benrene Hydroxy Carbonate

In a sample of hard water, 0.024 gm por lit of

MeSO,and 0.162 gfiit of (‘3[”(‘()“}““

dissalved. The hardness of warer would he

[Gsvm; Mol Wiof MaSO, - 120.CallICO, |, Jﬁ:J [

{B} 20 ppm
(D) 12 ppm

(Al 120 ppm
(€] 100 ppm

3

Cfaftre cwrall 3 Aefafir afsiva T e
| gar st 4 sdrae gert @

S Rl T

M g 8 g} ) B R
[ ) 5 wi ,.-_;‘:T."FI\I

B OYTOBY W1 OYIHM] WHIE 16 3R }qu[;j:ﬁ
az & 1 gi- W glEiAl U W W aen

5

[
6, 16 8] 4a, 18
€ am, 16 AP 44, 16

o faeft med % wigw A ¥ 2.72 T ¥
JiEEr D 0072 T ogElg Wiw wier g |
qorait fMdrmr

36 e g
(€] 5 D) 4a
8. A B afream wites o wet fem
e G
STl &
Azt w wE ae IR
dM
9 2RT © R
LM M

8. B.H.C. w1 Y A
(A) T TIESro EHE
(@ d5ik FmRTEARTS
(O 5T TRl w4l

Uy walk vl % W TR A 0024 Ty
afe ellew \pso. g1 04182 WA ufy e

CalllCO ) 971 & T 1 7 & weran
Bt

[Gi\'c:! MolWeorMeS(, = l,;'['-'.(..':ii;i 1C0, ;I_. = l{‘sjl

8 20 ppm
(D) 12 ppm

(A) 120 ppm
(€ 100 ppm
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[
=1

ga The electrigity required for {be precipitation of | e
0.01 g cquivalont of Au Tionswould be
(A 1001 i} 0.7
EL‘ oo D) 10+
—
Wt whi -
38 Which cguation is  23'anced among  the|m
following :
(Al o :
g A -
2 '
3 . OB AR O A0 !
B ; |L’
Bl e s i = 2
1?0;'- Il M0 <1407 - 2N T
5 BT  TILO- 2Mp0
‘ Q... .
MG 2 2217 N S
Wi - TH0- M0
[[0] E—— - - i
2BIO° 47 Mot '
2Bi -+ 6H.0~3\In0"
| . A temperature above which 2 gas cannot| s

liquefied is called
{A) liguefaction tempersture

i (B} Boiling puint

(€] Freezing point (¢ Critical temperature 4

M An inorganic compound contains Ca = 40%, C -
12%, O = &B%. The empirical formula of this
compound is
A % | ] -

Cas 0 CaCo .
€ (o}
(€) CacO CaCOo : .
- |
82, Atpmic number of carban is 6. 17s group in the | ¢
! periodic table is
§ CYRY (B} 1V
' () wi (o) 1

‘JP(F]HU;-

0.01 WM &I o~ dPF w1 Al awe

doloi [ad Rega 6 siaraess £ 7
[A) 1.0 |/ ) 0.1 I

© vo1F © 10 F
st 0 wla wm uawe dafg & 2
7 iy

OB, < 121 =307

By

3BT« T,

W st o 290 o i
B - 7TH,0 - MnO
= ﬁﬂi(].1 =3 s Mlam
)15 6H 0 +3MnQ?

s o wea, FEaT %
A gdiwwor ag B-TarEs

© fmiw ) g% am

Cwd yredbe Wi 9 wfawe wem A g

= 40%, C = 12% O = 48% £ | w1 O

Bl Al @ @
A B-Faco,

(@ caco B rico,

- P @ T 6 T W dd s
A O TR T

(A 11 LY

(A o) 111

A

B s T

hiia Teeh ot o o B RhoR st
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e R = f = g . il =k :‘Q '_E)'- .
- - Ja e difve A RIS 9 STRET 2 g
“t In which compound covalent bond exist amoni |

; : |
e following ?

(A Mapnesium ehlpride (Mgl

B} Socdivem ¢hloride Madl)
(€] Calzium Oxide {CaQ) |
(B} Ethane {C511.) |

L%}

Fauivalent weight of sulahuric acid is Atamic
Weight © 11, § =32 0= 16] [

(A) 49 () ag |
(cl go o] 39
4 : S| g
The plivalue of _ ——HC solution is
1000
(") s {g) 7
€] +3 D) +5
¥ The oxidation number ef Sulphur in sulphuric
acd 11,50, i
(A) 7 {E) 5
€l g {D] 4
a7 I
If radium remaing | of its initial quantity in
B
3160 years, then its half iife is
1A} 1650 vears (8) 1580 years
{€) 1730 years [B) 1400 yenrs
98 The electronic distribution of Mn(25) is
A) 2,8 14,1 8) 2,8 13 2
(€l 2,8,87 0) 2,8 10,5
9 The formula of water ga% s

W co+n, Lo T 8

@ HO(vapour) (o) (4 H.O

103 The percentage by weight of metal available an
the earth is maxirmum for
(A 5i (B) Fe

oo

<l al

(A AR @gS (MeCl)
(8) Tifyan deiivgs (NaCh)
AT bl aliirngs (Ca)
0) @1 (C, 1)

. = T
W OAERING HRl W Jendel HROE [T
1.S=32.O=1ﬁ]

jl:’f: . (6) gg

(c 8o (®) 39
M Ha e @ pH AE A
1000

Iy 5 L =

€ +3 (8) 45

H.S0, % oewx o

% wgRs e
il Exor v &
(n 7
I8 5

(8) 5
D] 4
7. Al WRwi 3160 aul F ay i
& | @ w2 FHD! S-amy B
‘._I_

(4 1650 qif \{91/ 1580 af
€ 1730 af D) q400 o
|* Mn(2s) & gdwIRT fimamr @
| B2, 8, 14, 1 B) 2 8 13 2
Lj;}"gl 8 8 7 {D) 2, 8 10, 5
. Sl IRT BT owF
B e o T
HO (@uy (o) ‘_C/+.‘]-Lt)

I (c)

‘aﬁn.qzzﬁ T U W arh) RIGS - Femersy

i R SRR SR Bt 2 g
W & 8 Fe
@ Al B
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